18 6 Vol. 18 No. 6
1998 12 Bulletin of Soil and Water Conservation Dec. . 1998

ITRE MR

( : - 100091)  ( )

, :S157.2

Benefit Evaluation of Sandy Land Comprehensive Control in
Yongding River Watershed, Daxing County, Beijing City
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Abstract A indicator system of benefit evaluation to reflect economic and social develop-
ment and ecological improvement is established. To evaluate benefit with fuzzy com prehen—
sive evaluation and to set factor significance with analysis hierarchy process, it was realized
that benefit evaluation was objective and reasonable.

Keywords: sandy land control in Yongding river watershed; indicator system of benefit eval—-

uation; multilevel fuzzy comprehensive evaluation; analysis hierarchy process

2.1

:1998- 11- 08 *



35
[1]
25 ﬁﬁ?‘iﬁ H % B o)
6]
[ |
AR A WAL 4 H ekt o
w
Ul UZ Uo E
U
e
FJI|H| | EE|FE]||A )| B A A A B
PO||BE | || || B || || BB =yl ] &
LA (A8 |||zl || E]x]|t]lm]
RN A | B o s ol ol I I | - I I [ I - S N
g ||| | A=)l m]m|m|lx] 2
M| Me || & [[M|[8 || H[[M|| |l w]|]2]|M] alml|l®]||Ms M
& H. || Me Ms [ Mg || Mio] (M Myz || Mig|| Mis
M3 Ms
1
B= A°R, B ;A ; © ;R
M Ri(1= 1,2,3)
M B, U
Ri , ; M(s, O)
2.2
[2] 1
1
A A,
A= (0.330,0.065,0.242,0.100,0.079,0. 184)
A = (0.309,0.529, 0. 162) A,= (0.425,0. 150, 0. 239, 0. 186)
As= (0.361,0. 134, 0. 090, 0. 160.0.075, 0. 180)
2.3
2 13l :
(D) : (2)
0 0< v < a ! 0< x £ ai
U(x) = T4 a1< x< az U(x) = o a< x < a
a - al axz— ai
1 X 2 a2 0 X = a2
x soal, a2 , ,
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2
50 60 2010 ( 2) 50 60
(1)
(2) ,
(3)
! % 3.7 35 / % 0. 38 0.95
/(g kg 1) 3.7 14 ! % 37.6 0.98
1.59 2.70 0. 81 1
7 ) 46.7 6500 ( / 709 18500
/(- hm™? 862.5 7800 1.1 3.0
! % 37 90 ! % 60 39
(kg/ ) 169 1560 (kg/ 15 950
(kg/ ) 8.4 230 / % 4 50
2 37 1’ 27
3,5,6,7,8,9,10, 11,13, 14, 15, 16 , 4,12
2.5
M Bi= Ai°Ri(i= 1,2,3) (A M
sRi M )
3
(1) Bi= Ao Ri= (0.0264,0.3338,0.7127)
(2) Ba= A20Ra= (0,0. 1046, 0. 6595)
(3) :Bi= A3°Rs= = (0.0054,0.1375, 0. 6786)
(4) M Bi(i= 1,2,3) U

R, U :B= A°R= (0.0090,0.1808, 0. 6790)
Ar= (0.330,0.065,0.242,0. 100, 0.079,0.184); A2 = (0. 425, 0. 150, 0. 239, 0. 186)
A3 = (0.361,0.134,0. 090, 0. 160, 0.075,0.180);4 = (0.309,0. 529, 0.162)



0 0.24 0.62] 0 0.05 0.85
0.07 0.37 0.79 0 0.43 0.56
0 0.35 0.71 0.02 0.21 0.69
Ri= Rs=
0 0.35 0.89 0 0.02 0.59
0.02 0.15 0.64 0 0.05 0.67
LO.11 0.58 0.79 L0.02 0.20 0. 50!
[0 0.020.75 0. 0264 0.3338 0.7127
0 0.03 0.77 ) ) )
R>= R = 0 0. 1046 0. 6595
0 0.22 0.53
0. 0054 0.1375 0. 678
LO 0.21 0.5
4
3
1952 1975 1994
3.7 0 11. 2 0.24 23.1 0.62
0.42 0. 07 0.59 0. 37 0. 83 0.79
/(g- kg D! 3.7 0 7.3 0. 35 11.0 0.71
37.6 0 24.7 0. 35 5.1 0.89
1.62 0. 02 1.78 0. 15 2.40 0.64
0.83 0. 11 0.92 0. 58 0. 96 0.79
48. 8 0 177 0. 02 4890 0.75
709 0 1133 0. 03 12270 0.77
57.5 0 330 0.22 719 0.53
1.1 0 1.5 0. 21 2.1 0.53
37 0 39.7 0. 05 82 0.85
60 0 51 0. 43 46 0.56
201. 6 0. 02 407 0. 21 951 0.69
15. 8 0 209.7 0. 02 658.1 0.59
8.4 0 12. 1 0. 05 139.5 0.67
5 0. 02 13 0. 20 27 0.50
2.6
B (4 b'i =
int( 1006: + 0.5), 5
4 5
1952 0.0264 0 0.0054 0. 0090 1952 3 0 1 1
1975 0.3338 0. 1046 0.1375 0. 1808 1975 33 10 14 18
1994 0.7127 0. 6595 0.6786 0. 6790 1994 71 66 68 68
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